Horsemanship Pairs—Walk/Trot, Novice and Elementary
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1. Both Riders 1and 2 will walk to cone A on opposite sides.

2. At cone A Rider 1 will stop and perform and 360 degree pivot to thelet and Rider 2 will
stop and peform a 260 degree pivot right.

3. Rider 1 will jog a drcle to the left and rider 2 will jog a circle to theright.

4. Rider 1 will continue jogging to and around cone B while Rider 2 continues joggingto and
around cone C.

5. Rider L will continue jogging across the arena diagonally to and around E. While Rider 2
continues jogging across the arena diagonally to and around D.

6. At cone EandD Riders 1 and 2 will walk to the center of the arena where they started.

7. Both Rider 1 and 2 will stop and badk a horselength to endthe pattern. C. Sempek



